Ryan’s Trig Identity Problems
1. Verify (by working on just one side – not my idea, but a lot of teachers want it this way!)
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Starting with the left-side and using 
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 & the sum formula for sine to get:
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Continuing with the double-angle formula for sine, we got:
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Now we ‘cheated’ by working on the right-side (I didn’t know what
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 formula to use!)

Left the
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 alone and used the double-angle formula: 
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Next we factor out a negative sign so that we can factor a ‘trinomial in
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Finally spotted a way to get rid of the annoying ‘-1/2’ by working on the right parentheses.
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Looking back at the left-side, we can see a 
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 factoring out and a 
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One more cosine double-angle formula and we’re in!
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Now all we have to do is copy the right-side in reverse order and we’re done!

(I’ve got to look for an easier way!)

2. 
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  The plan here is to get to 
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Working on the left-side (but looking at the right-side while we do!)…

Trick #16 – multiply top and bottom by 
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 to get (x – y)(x + y) = x2 – y2 
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  (Note - 
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 could be negative.)
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